
Fig.1      
)1)(819.0(

)607.0)(905.0(8.48
)(*

−+
−−

=
zz
zz

zR

Fig.2      
)1)(622.0(

)607.0)(905.0(37.5
)(*

−−
−−

=
zz
zz

zR

0 0.5 1 1.5 2 2.5
0

0.2

0.4

0.6

0.8

1
Uscita y(t)

t

0 0.5 1 1.5 2 2.5
-40

-20

0

20

40

60
Var. di controllo u(t)

t

0 0.5 1 1.5 2 2.5
0

0.2

0.4

0.6

0.8

1
Uscita y(t)

t

0 0.5 1 1.5 2 2.5
5

5.5

6

6.5
Var. di controllo u(t)

t



Fig.3      
)1)(45.0(

)607.0)(905.0(134
)(*

−+
−−

=
zz
zz

zR

Fig.4      
)1(

)905.0(5.10
)(*

−
−

=
z
z

zR    ,   
s

s
sR

)1(10
)(

+
=°

0 0.5 1 1.5 2 2.5
0

0.5

1

1.5
Uscita y(t)

t

0 0.5 1 1.5 2 2.5
-100

-50

0

50

100

150
Var. di controllo u(t)

t

0 0.5 1 1.5 2 2.5
0

0.5

1

1.5
Uscita y(t)

t

0 0.5 1 1.5 2 2.5
4

6

8

10

12
Var. di controllo u(t)

t

A

D 

A D 


